Divize A

Kasnik Sebastian

skupina 1-12 (A) I. stupei 1 2 3 4 5 6 skore | body | poadi
1 |veigl Lukas Jesemk\{ e [FL-JEN I I VoI |
2 Solle Radovan Heredinl.2:2 >< = = = 3] 30 15 5 6
3 Gliickova Lenka viorBeroun 82 = = = %206 : 13 6 5
4 Jarolim Tomas rrerev) 82 = 2 = 212 0 7 9 2
S Prazdna Tereza el 02 = =5 = >< 2 70011 7 4
6 Kadl&ik Jifi DDM Olomouc 0:3 3:1 3:0 2:3 3:1 /\ 11 - 8 3 3
skupina 1 - 12 (B) I. stupen 1 2 3 4 5 6 skére | body | pofadi
1 |Hejduk pavel D e e e I R
2 | sanik Michal remeicel.... 2:2 >/< = = k2 31013 : 8] 9 3
3 Sklenar Jakub eredin).. 02 = = = el 9 12 7 4
4 Prazdny Pavel i et 22 = = = el 70 14 6 5
5 Novik Dominik Cechovice 1:3 31 3:1 3:2 >< 3:1 13 - 8 9 5
6 Kaznik Sebastian Jesenik 0:3 1:3 1:3 2:3 1:3 /\ 5 - 15 5 6
pofadi 1-6 II. stuperi 1 2 3 4 5 6 skore body | poradi
1 Veigl Lukas osen 2 = = = 215 0 2| 10 1
2 Jarolim Tomas rrerev) o2 >< = = = 110 11 8 3
3 Kadlcik Jifi DDMVOIomouc 0:3 2:3 >< 0:3 3:0 2:3 7 - 12 6 5
4 Novak Dominik Cechovice 1:3 3:1 3:0 >< 1:3 3:1 11 - 8 3 2
S Hejduk Pavel Frerovl A2 =2 = 2k >< &3l ;13 6 6
6 Janik Michal Némcice 0:3 1:3 3:2 1:3 3:2 /\ 8 - 13 7 A
pofadi 7-12 Il stuperi 1 2 3 4 5 6 skére | body | poradi
1 Prazdna Tereza Naklo\{ = = = 2 = 10 : 9 8 8
2 Gliickova Lenka Mier. Beroun =3 >< = 2 20 4 14 . 7 9 7
3 |$olle Radovan Heredn ... %3 = = 23 %3..06 : 14| 6 12
4 Prazdny Pavel netol—=2 = = = 212 011 7 10
S [skienar Jakub Neredinl. 32 = = = >< $L.d10 : 11| 8 9
6 Jesenik 3:1 1:3 3:0 2:3 1:3 10 © 10 7 11




6. KBTM DIVIZE B 1 2 3 4 5 6 7 8 O [skére |body |poFadi

1 Mazalova Veronika Brunté|->/< 2:3 1:3 2:3 31 31 3:2 2:3 31 19:17 12 17

2 |Vagner Vojtéch prstroval - 315 \/< 0:3 1:3 0:3 3:1 3:2 2:3 1:3 13:20 11 19

3lpasek Rudolf sumperl 3.9 3:0 \/< 31 3:0 3:0 31 31 2:3 237 15 13
Vrbno pod Pradédem ) ) ] \/ ] ] ) ) ) .

4 |siavik Petr 3:2 31 13| > | 23 3:2 3:0 31 3:0 21:12 14 14
. DDM Olomouc| ) ) ] ) \/ ) ) ) ) .

5 Stefanéik Jan 1:3 3:0 0:3 3:2 /< 3:0 3:0 31 1:3 17:12 13 16

6 |baniel Jan etretll g 1:3 0:3 2:3 0:3 >/< 3:2 1:3 0:3 8:23 9 20

7/ |Kaspar Michal el 2.3 2:3 1:3 0:3 0:3 2:3 \/< 3:2 0:3 10:23 9 21

8lpetrek Tomas HomiMestol 3.5 3:2 1:3 1:3 1:3 31 2:3 >/< 2:3 16:20 11 18

9|steigl Simon Cechovieetl 1.3 31 3:2 0:3 31 3:0 3:0 3:2 >/\ 19:12 14 15




